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Volume of 0.10M NaOH (mL)

20.0mL of Unknown Hypochlorous acid Solution

Equivalence Point
Salt hydrolysis.  Mols A- = mols 
of original HA. [A-] with total 

volume. Use Kb (from Kb

=Kw/Ka) to find [OH-]

Half equivalence point
pH = pKa

Find [OH-] from HA + OH- stoich
and total volume.

Initial pH can calculated if [HA] 
and Ka are known. Ka = x2/[HA]
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Volume of 0.10M HCl (mL)

20.0mL of Unknown Ammonia Solution

Equivalence Point
Salt hydrolysis.  Mols BH+ = 

mols of original B. [BH+] with 
total volume. Use Ka (from Ka

=Kw/Kb) to find [H3O+]

Find [H3O+] from H+ + B stoich
and total volume.

Initial pH can calculated if [B] 
and Kb are known. Kb = x2/[B].

Half equivalence point
pOH = pKb


